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Trovarei decimali ripetuti

Nome:

Deter mina se ogni problema, quando convertito in un decimale, risulterain un decimale Risposte
ripetuto (R) ofinale(T).
7O R — N
A fraction will result in aterminating decimal if the prime factors of the simplified 1
denominator contain only 2s or 5s (or only 2s and 5s).
6 3 2.
/a0= /o0 =2x2x5=0.15
3.
A fraction will result in arepeating decimal if the prime factors of the simplified
denominator contain any prime factor other than 2 or 5. A
5 T :
/4o = 2x3x7 = 0.1190476
\_ ).
1) 10:3= 6.
2y ;
3) 16
/20 = 8.
4) 102:19= 9.
5) 2/17 _ 10.
6) 288:27= 11.
7) 11/13 _ 12,
8) 6/16 _ 13.
9 196:30= 14.
10) 21/24 _ 15.
11) 101:15=
12) 243:26=
13) 45:18=
14) 84:22=
15 144:14=
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Trovarei decimali ripetuti

Nome:

Soluzioni

Deter mina se ogni problema, quando convertito in un decimale, risulterain un decimale
ripetuto (R) ofinale(T).

.

6, 3
/a0= /o0 =2x2x5=0.15

5 -
/4o = 2x3x7 = 0.1190476

A fraction will result in arepeating decimal if the prime factors of the simplified
denominator contain any prime factor other than 2 or 5.

/
/Afraction will result in aterminating decimal if the prime factors of the simplified
denominator contain only 2s or 5s (or only 2s and 5s).
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